MHF4U: Quiz — Trigonometric Values

Name;: 50\%’\’1 o § Mark:

14 10 5
KU APP TIPS

1. Give the measure of the angle £ 9, (express in radians as a fraction of 7 ) [KU/3] g
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2. Determine a positive and negative co-terminal angle for each of the following:
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Determine the measure of the central angle that is formed by an arc length of 8.3 ¢cm

In a circle with a radius of 3.5 cm. Express the measure in both radians and degrees,
correct to one decimal place. [APP/3]
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4, A) If the point P(-7.3) is a point that lies on the terminal arm of 3. Determine the

exact value of sec§. [APP/3]
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B) Determine £ &. (Express in radians, rounded to the nearest tenth.) [KU/1]
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3. Evaluate each of the following. Include a detailed diagram for full marks. (No
decimal answers allowed) [KU/6] '

-

B) cse(— Jj)

A) cos(390°)

/] .
CSc (’135") |




6.
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Determine all possible values of £ 9 such that: (Consider =27 < 9 <27) [APP/4]
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Given £ 31s a third quadrant angle and cos9 = -5 Determine the exact value (no

decimals) of 3cscd—(tan ) . [TIPS /5]
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